
Day 2:3.2 Reciprocal of a Quadratic Function

A quadratic func tion lids the form / (,v) = ax ’ + hx + c in standard form. VVhdt doc\s the graph of the 
reciprocal of a quadratic look like?

Vorlirnl asymptote’s occur when the di'iiominator of a rational expression is zero. The roots of a quadratic 
■ expression in the denominator correspond to any vertical asymptotes.

Since a quadratic may have zero, one or two real roots, the reciprocal of a quadratic may have zero, one or 
two vertical asymptotes.

In general, to graph the reciprocal of a quadratic function:

a. l-aclor and simplify the expression 
h. Determine the VA and IIA
c. Determine the \ & y intercepts
d. Determine where the function is positive or negative (lies tibove or below Hie x-axis) using an interval

EX 1 - Graphing a reciprocal of a quadratic function with two zeros: f{x) =

a. Factor and simplify:
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b. Determine the asymptotes
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c. Determine the intercepts 
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d. Determine where the function is positive or negative (lies above or below the x-axis) by using an 
interval table
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